Respiration






Plant respiration

Simple definition: The oxidation of sugars to produce
usable energy (ATP), reductant (NADH), and carbon

“skeletons” for biosynthesis.

60 ADP + 60 P, --> 60 A

What are the major steps?
1) Glycolysis
2) Citric acid cycle

P+ 60 H,0

3) Electron transport/oxidative phosphorylation
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Steps of respiration

* Glycolysis

* Pentose phosphate pathway
* Citric acid cycle

* Oxidative phosphorylation



Glycolysis

- conversion of carbohydrates into pyruvate producing
some ATP and NADH in cytoplasm and plastids

- can happen in presence or absence of O,

- if O,, then pyruvate converted to acetyl CoA and
into the citric acid cycle

-if no O,,then “fermentation” (see later) occurs,
pyruvate is reduced to lactic acid and/or ethanol
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Glycolysis summary

*Inputs: *Qutputs:
*Glucose *2 pyruvate
*2 NAD+ *2 NADH
*2 ATP *2 ADP

*4ADP +2P *2 ATP (net gain)




Have a look at this video

https://youtu.be/hDglrhUkV-g
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